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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question / part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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T A
SECTION A

Q1. FafafEa § @ Tcie U9 &1 I R 150 Weal | S0 :
Answer the following questions in about 150 words each : 10x5=50

(a) CHRTE &% 3gW § difgs utral 3 frg wg avem fean 2 fedwmn fifsg |

How did the intellectual forces lead to the emergence of sociology ?

Discuss. 10
(b) T THENT T YoI-FHg fagm 2 2 fad=mn hifvw |
Is sociology a value-free science ? Discuss. 10

(c) vomeh fasm fawi, frgral @ afseansti st o Ut sgaeen 8, S e iy
W ¥ <t 8 | Rogoft Hifvg |

Methodology is a system of rules, principles and procedures, which forms
scientific investigation. Comment. 10

(d) T AW F A TEY AHERS TEANE &, T aRdfasdl & FEY TGl
£ | o far &fm |

‘Ideal Types’ of Max Weber are mental constructs, they do not
correspond to the reality. Give your views. 10 1

(e) TP Uiedd & Jewd § ‘afewe wfEafdal it gfieear 1 favewor
i |

Analyse the relevance of ‘Pattern variables’ in the study of social change. 10

Q2. (a) THINS AHAMRERT & THRHARG & IR H A%, HA HI Thafspard = § 2

fifga yeprat Y et & aR & feornft i |

What are the reactions of R.K. Merton to the functionalism of social

anthropologists ? Bring out the limitations of latent functions. 20
(b) THS & EURRU (JEHHEYA) ¥ USIHA W@ digsmEl fh @ yH@ 1o

2 2 faaw i |

How are Hierarchy and Exclusion the major impediments in the

transformation of societies ? Discuss. 20
(¢) TSTa-d I TATS ! T TGEAT & ®9 8 W e | orifa & amt &t

arfigit o sk a1} SR T & 2

Explain democracy as an order of society. What are the factors

preventing people’s participation in politics ? 10
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Q3. (a) Wimﬁmsﬁrﬁqﬁr&mﬁmﬁmélmwm
wIfore HifvT |

Capitalism has brought increasing informalisation of work in society.
Substantiate your answer. 20

(b) g@q%wmﬁmsﬁm%mﬁmw(wmmﬁm
AEF) S o H yfrewr w1 el Rvewv St | grweis gar 3
uifdieh GATTRoTaTe o qftomt 6 o ==t Hift |

Critically analyse Durkheim’s views on elementary forms of religious life
and role of religion. Also discuss the consequences of religious revivalism
in contemporary society. 20

(c) agﬁmm@awﬁwﬁaﬁwnﬁwmﬁm%wsﬁwml

Discuss the consequences of Across Region marriage on kinship system

in modern Indian society. 10

Q4. () T HEE WP, fomm wa efieR i g w fnk 2 ? HE & geaol
7 feooft SHifsr |

Is humanity at the mercy of Nature, Science and Technology ? Comment
in the light of pandemic situation. 20

(b) g@q%m‘ﬁmmm@wﬁm%mﬁ@r@ﬁwmm
? 17 f@=m i |
According to Durkheim, “The major function of education is the
transmission of society’s norms and values.” Discuss. 20

(c) wﬁmﬂﬁ?ﬁamwaawvg?ﬁwaﬁ%mﬁmwm
HifJu |

Critically assess social mobility in closed and open systems. 10
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SECTION B

Q5. Treafefem & | T® v 1 IW T 150 yreat ® ARk
Answer the following questions in about 150 words each : 10x5=50

(a) wmﬁm%wﬁéﬁﬁwﬁﬁw%mﬁwm@%?

feoqoft ShifSte |

In the context of globalisation, has the scope of sociology been changing

in India ? Comment. 10
b)  amEE e i afee % Hew T Al = HIi |

Discuss the importance and sources of hypothesis in social research. 10

(©) g@h%ﬁ?ﬁ%wwﬁmwﬁ%m@mﬁwﬁwmw

What are the problems in observing social facts in Durkheim’s views ? 10
(d @-mﬁmmﬁﬁ%ﬁamﬁmﬁ@mﬁ%mﬁwm

$ifvr |

State the reasons for the various religious beliefs and practices in

pre-modern societies. 10

(e) o7 i T & fare Y deen and off fes W S @ 9 feogeft hifs |

Does the institution of marriage continue to be sacred in Indian society ?
Comment. 10

Q6. (a) #mﬁﬁmﬁﬁﬁwﬁmﬁmmﬁmﬁﬂm

siftehl W Y AT THTE! 1 FuiA HIT |

Discuss the new labour codes and their impact on formal and informal

labour in India. 20
() Tiew & JER, “Cyfirse at w3 & WTEA e § 7 R s 3w

q | feuquft Hifv |

According to Mills, “Elites rule in institutional terms rather than

psychological terms.” Comment. 20
(c) wﬁmsﬁaﬁmﬁ%aﬁmmﬁaﬁmﬁ@mﬁﬁ!ﬁw%ﬁw

i |

Analyse the strengths and weaknesses of social survey method in social

research. 10

URC-U-SOCY 4

https://www.freshersnow.com/previous-year-question-papers/



Q7. (a) RNFER 3 wfa wa Fafar H ik ) agmn e @ | 3= it

Technology has accelerated the process of development and dependency.

Discuss. 20
(b) THNRIE ¥ HATH® fRHIV, TA&aTg H o5gd @l qEumunati # efieHn

Fd & | feoaoft hifre |

Phenomenological perspectives in sociology reject many of the

assumptions of positivism. Comment. 20
(c) W & ‘STermaaTs % fagra 1 ATeemTens qeaiw HIR |

Critically assess the Marxian theory of ‘Alienation’. 10

Q8. (a) wWINIF YREd B T WIS G9¥ 6 FA Th Al o S &9 § T
27

How does Marx view social conflict as an essential element in social
change ? 20

(b) TN & o W | & fom-fawea & get 9@ awE SaA § 2

What is the impact of gender division of labour on the development of
society ? 20

() vl Hivw foh amfoe el &1 A=d 8 Ba1 & | 3TN afgd W
ST |
Examine how social movements come to an end. Illustrate with
examples. 10

URC-U-SOCY )

https://www.freshersnow.com/previous-year-question-papers/



https://www.freshersnow.com/previous-year-question-papers/



